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s trombone plays 2013 notes, the trumpet plays 2014 notes,

and the tuba plays 218 notes. That's a total of _?_notes.

A) 6245 B) 6045 €)4245 D) 645
2. The remainder when (999 999 999 + 666 666 + 333 + 1) is divided by 3 is
A)0 B) 1 02 D)3
3.20-5x2=2x 2
A)S B) 15 )25 D) 3
4. 4x6x8x10=2x3x4x5x 2
A)2 B)6 O} D) 16

5. When I split the cost of a video game equally with 4 friends, we each pay $12.00. How much more do
each of us pay if I split the cost equally with only 3 friends?
A)$3.00 B) $4.00 €)$15.00 D) $16.00

6. At5:00 PM. on a Friday, Hal got locked in the vault. He was in there for 5040
minutes before it opened. On what day did it open?

A) Sunday B) Monday
©) Tuesday D) Wednesday
7. 150% of 20 = 200% of ) .

A) 15 S, 92 )30 D) 40

8.
7, )32 D) 64
9. {5t the end of cach km I drive. The markers are numbered consecutively from 1

100. How many markers are more than 30 km from the marker numbered 50?

B) 39 ©)40 D)41

10. OF 60 people at a school board meeting, 24 are men. The ratio of women to men at the meeting is
A)32 B)2:3 Q) 11:6 D) 6:11 %?E‘

11. T rode my bicyele a total of 450 km in 15 hours. At this rate I would travel 2,
A)15 B) 30 C) 60 D) 900 %@ \M-‘“

12. If the sum of 7 consecutive integers is 63, the sum of the lar, Sl or the 7 integers is
A) I8 B)24 42 D) 655 ¥

13. OF the first 100 positive whole numbers, the ratio of the number of multiples of 8 to the number of

multiples of 4 is
A2l B) 12:25 €)13:25 D) 12



[image: image2.jpg]14. 1f two consecutive whole numbers have a different number of digits, then their product must be a

multiple of

A4 B) 11 15 D) 100
15.2%x 2% x 27 x 2! =

Ayat B 160 i g D) 16155
16. Which of the following f < it number of sides?

A) thombus ?@' ‘e‘édke"’g C)pentagon D) hexagon
17. Fo; may vlﬁgﬁ@\‘ﬁr‘um 55 10 66 is the ones digit greater than the tens digit?
W g) 5 10 D)1

18. LeXbet¥% 6 same-priced books and pays with a $50 bill. The change Lex receives is twice the price of a
book. Each book cos
A)$6.25 B)$7.14 €)$8.33 D) $12.50

19. In what month is the 222nd day of the year?

A) May B) June ) July D) August
20. The number of heart balloons that Cora has s divisible by th
What is the least number of heart balloons that Cora can hay3}¢>
A)6 B) 10 [S3E] D) 0

21. 10 quarters + 30 dimes = _?__ nickelss
A)50 B) 60 €) 100 D) 110

22. The average of 2014 sixes is equal to the average of 4028
A) threes B) sixes
C) nines D) twelves

23. What is 0.625% of 8% of 5007
A)0.25 B)25 )25 D) 250

24.1f 5 and 9 are the lengths of two sides of a triangle, _2_ cannot be the length of the 3rd side.
A)3 B)6_aaidE_~€To D) 12

25. When 1 divide thy % 1€ my backpack by 6, the remainder is 4. If | had twice as many
pencils andafRi odMber of pencils by 6, the remainder would be

“ﬂr_;lwvﬁ) 2 04 D)8

2
Of the 200 stripes on Frank’s giantshell are blue, = of the remaining stripes are

26!

brown, and the rest are white, there are _?_ more white stripes than blue.
A)0 B)40 )42 D) 56

27. The sum of the squares of 2 integers each greater than 0 is 17° = 289. Tg;@;ﬁ
these 2 integers is
A)23 B)25 027 D)2

28. Bei’s and Fay’s ages average 12, and Ray’s and Clyde’s ages avetige 16. If Bei’s, Fay’s, and Ray’s ages

average 11, how old is Clyde?

A)28 B)23 )20 D)17
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30. Each vertex of square § “ide of a square of side-length 20. The least possible area of S is
A) 100 % 5})171; 0 V) 200 D) 250

ngﬂm 54, BHAMS, 3504, HERWAREEERLE)

the digits of m is half the sum of the digits of 2. What is the minimum value of n?

Answer: .

32. The sum of S different prime mumbers is 200. Each ofthe 5 prime numbers i less han 100cSgiur giahe S
prime numbers have the same units digit. What is the median of the § prime numbens?® Te
Answer: B
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